B gt kB 102 5 R LR A A KR

%1 8 %6H
£ R # BjREX S 3{}?\% M2 A 280G3) 28
R EE (3 6 H) | %ﬁﬁéé’iﬁ%%-ﬁivpfg ' BRIR T34 o
AAEDFR - 0L - BREEOAE - FI=ABAEIER  FESERLEE -
I. Vocabulary: 24%
In each of the following 10 sentences there is a blank where a word is left out. Choose the answer that best
completes the sentence and write its corresponding letter on the answer card.
1. The_____ atthe museum is a world-renowned scholar whose research involves exploring stone ruins to
learn about the peoples who lived in them.
(A) warden (B) skipper (C)curator (D) steward
2. She was staging an event to thank her _____ for their support over the last twenty years.
(A) compatriots (B) havens (C)debris (D) apparatus
3. Undernutrition can lead to extreme weight loss, __ growth, and weakened resistance to infection.
(A) stunted (B)wary (C)withheld (D) radial
4. The high-tech train, which was once _____ as a step into the future, was replaced by shuttle buses.
(A) oppressed (B) floundered (C)undermined (D) hailed
[5. A deer was rescued by wildlife workers after getting ___on an icy lake.
(A) seducing (B)stranded (C) disposable (D) immense
6. This predictable relation between income and transport spending allowed us to conjecture _____ about the
future.
(A) plausibly (B) chronically (C) monotonously (D) latently
7. That everything old is new again is a simplistic ______ on the tenets of upcycling, or giving renewed purpose
to something others send to landfills.
(A) move (B)being (C)take (D) push
8. There could be a variety of resolutions to try for the new year: an updated fitness _____, pursuing new
hobbies and getting organized are all options.
(A) dietitian  (B) regime (C) dictation (D) purgative
9. This is Josh’s favorite band even though every song the band plays seemsto ____ with anger.
(A) outrage (B) pulsate (C) discharge (D) discern
10. The general public’s interest in continuing education in recent years has been encouraged by the ____
economy and tough job market.
(A) volatile (B) permeable (C) auspicious (D) promising
11. As Glasgow put it, “Legal constraints maintained ______ that worked against any single individual having too
much power.”
(A) a derangement (B) an orientation (C) a preponderance (D) an equilibrium




